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For if he moved a carcass — 27X R%2u» 1K) 29732 R0 7931 0907 K77
He is X»wu» clothes but he is not X»u» a person.

OVERVIEW

nww 27 told 127K 27 that we derive the rule that a 17190 %2 ¥71¥71 is 7R X1wH from
the fact that he is 2732 Xnvn in 190 *»>.' "27MK 27 rejected this proof saying that
20"1ama axmw is different from being Xnvn either 07X or 1112°12 X9w 0°732. And 20
M2 proves his point (that 1712m2 XMW 1s different) for we find that one who is
v0n a n2°21 (through carrying it, for instance), [he and] his clothes become Xnv,
however he cannot be ¥nv» an 07X [or other 0°75/0°731]. There is a dispute between
*"w7 and MpOIN regarding P12°12 AN and what does this exclude, as well as the
reading of the text in our X 1A,

- £ 9INW 1991303 ANDILT DIV PINY
Is not [the reason] for this difference (that the clothes he is wearing become Xnv

but he cannot be 2°701 27X Xnvn) because P 12m2 R is different than other nixn.
— Y1aY NINY D12 RIN RNPVN 1ONT DIVNPH WO

s"w9 explained that 11272 782 means that the 77°21 von is only X»un the
clothes that he is wearing.

mooin disagrees with *"w70 (regarding 101212 ARMAIY):
—%539wn BY93 %1% NYID D31 NNNAT PN 12 PN 193290 NYP)

And the 2'"2°9 has a difficulty with *>"w7°0 for in 5392w 2193 579 w9 "IN -
— NYWY 103 Y RYT 23 HY N (D9912N3) 099 1PN NPVRY HaIN

It is evident that a 7%°21 v°0n is X»uR even (2M12m12) 2992, even though the idea of

wearing 2°92 is not applicable; one does not wear o°%3, and nevertheless the 72°21 0°0n is
0°% Rnwn -

' See X1 A"72 *"wn. Regarding the conclusion of 11190 2, the 109 in b, (¥M¥R) X states, P32 DX 02I;

indicating that his clothes are ¥nv and therefore require 7p»2 79220 (the 023Y).

2 p™nama AN means the aXmw which is conveyed to items which are in contact with a person, who is at that

moment in contact with a X»vni1 7127, which can be X»vn the person. According to >"w1 it is limited to the clothes he

is wearing while he is in contact with the Xnunit 727,

? The n"271 N3 amends this to read, 12 Rapw Xn

* It seems that Moo maintains that according to *"wA this line (3xw-1%¥> [0"1]) appeared in the text of the Xxm3.

> According to *"w, the 79°21 von (who is a XMWY MWRA) cannot be °95 Xnum or *732 which he is not wearing even

when he is still in contact with the 177°23; he can only be Xnun the clothes he is wearing.

6w 719971 "7 RNWAD it states as follows: 2277323 09 IRW NWYY TIn 07732 RALA REITW Tabn -- "1732 02 (2N923) X"
.00 9931 DR RALA PRI RAVA RIT 722 - 732" 112 72N 2001 2921 07K KA 2127 ."Rn1" M2 1inon

" The n"a Mt amends this to read, 3"¥X D93 129K Xnvnw 121 11w (the word 0 12°m2 is deleted).
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—1Na YXNY DN YD) DTN NIN 51513219 VYN 1PN
And the 2"\n does not exclude from the word 19732 only a person or

earthenware which the ©v’0» touches that he is not Xnun them (even while he is v°0n the
77°21), but the >™n does not exclude that the ©v°on is not 0°75 Xavn (or 0°732 which he is not
wearing) while he is *von —

moon offers his view regarding the v1v°n of P27 ARMI:
— 173 ¥1aY PN 1IN VIDNY AYYA DI NNDVM INTI NIN

But rather the v°0» is certainly 29722 X»w» (which he is contact with) at the time

he is von even if he is not wearing those clothes; it is only an 7% and 0771 *23 that he is
not XAV,

mdoIn proves his point:
— 19310 DR NRVNT NIV NNYN NONX 9INPT ¥YIYN 19)

And this is also indicated in the X773, for since NWw 27 said to M271X 27; ‘but ‘as

of now’ I ask you from where do we derive that a y=w is X%2u» an 27X -
— %915 3193 DTN NPVN DAL NPVNT DIVN INY

Is it not because since a 770 is 2°732 X»wR it is also aTR Xnwn, etc. -
— YWY 153 7Y XYT NIVUN 7799 NN YIAY NINY D212 ©NAN 297 IN)

And if the term 2°9121 means the clothes he is wearing, what is he asking from

9w where the whole concept of wearing is not applicable, so -
— or1an 0N 19°995 INT BNN

There by y @ we certainly can derive 27X from 23732.

¥ In ma,x° (1nw) X7p7 the PI0D states 2777 79 KHYY 1722 023° DNP21 DX KW, indicating that the XeM1 (who is a v*on) is
Xnun (only) the 2°732 and no other things.
? The von is not X»tn any D731 2°92, even what he is wearing, once he is no longer v°on (or in contact with) the
79°21, since he is (only) a aR™MV? NWRI, which can be Ppwn 1221 RALA, but not 2°751 DX,
' The same will apply to a 1M90 »°2 ¥y¥» that he is Xavn all 2°92; the query was only regarding DTX Xnub.
'We know that a YW is 07722 Rv that it comes in contact with for the P10 in 27,80 (C1'W) RIp™ states: DOXHWT AR]
WY °72 22 P R W IR 133 N 7Y "9 230 Ry 0N 0Fn Y 92 WK 23) [29¥7 7Y XpW 03 073 YT 93 YWD 232 097
ATY) 2097 7Y RRY) KIP D03 DF2 TMNRYR AW
2 nww 21 derives DT XaWY 1190 2 yEA NN from the fact that he is 2732 Xnwn. However M27ax 27 rejects this
proof saying that P12m2 AR™W (meaning [according to *"wA] clothes that he is wearing) is different, as we see
regarding WO NXMY that it is 0°732 Xnvn (which he is wearing) and is not O7X Kby, W' in his attempt to refute X"
argues that we can derive 07X nXm™w from 0°732 NXMY, for otherwise how do we know that a YW is o7R &nun (if not
from the fact that the yw is 0>732 Xnvn). If however according to *"wn that the 2>732 nXMv by Vo’ (and ¥¥N) is
referring to the clothes he is wearing, so what is s'@"" argument. By y7% we can derive o7X DX from 0’732 nXM0,
because the 0732 NXML by a yW is certainly not referring to the o732 the v is wearing!! Rather it is discussing
other clothing. Therefore once we know that Y% can be 0°732 Xaun (even P12ma X2w) we can derive that it is also
07X Xnun. However by (yxm1) von where we only speak of 1m1ana axmw (the clothes he is wearing), we cannot
derive from this 7R NXM, so what is the refutation of w"1!! See &>772 7"7 >"w7 who acknowledges this difficulty.
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In summation: According to *"w9 a 79°21 v0n is X1wH only the 0>732 which he is wearing and not
(other 0>732 or 0°93 and certainly not) an Q7X. A 190 2 ¥yM¥A is certainly Xavn the 0732 he is
wearing; the question of 127X 27 is from where we derive that he is also 27X Xnvn (and 2’732
which he is not wearing).

According to mooIn a 79721 von is 0°931 0732 ’HwA (besides ©In °9D) while he is touching the
72°21, but not 2TR. A 17190 M°2 YM¥A is certainly 0°931 0732 Xnvn; the question of "M2TnR 17 is
from where we derive 17190 12 QX NRMY.

Mmoo offers an alternate explanation and reading' of the X7
— 9INY D)2 NNV NNPYST D) 590 RIX DaNa 093 K97 98N 12 PN 199299 NN

And it is the view of the 2''2"" that the text does not read 29M2ar2 [IR21Y XAHTY]'
'[»axw], but rather this is the correct reading, iR 29732 nx»w X297, [and

perhaps the 82w of clothes is different from a7x nxmw] (but no mention is made of
7°M2m2 RMW) and *1270X 27 continues -
— DTN NNV 1PN DI RNVNT NDA) VDN NAT YTN

You can know that 2°732 nx”w is different, because a 179331 v is QITI2 RAVRA

and is not 27X R»w» -
— IRV D1AN ANNDIVT DIV INY NIAYD INM 195093 X9

And the text does not continue with "IN 29M2ar2 IRPIWVT 2R IRD ©''» [what is
the reason 7°21 ©0n is 0732 Xnvn and not QIR XAV, is it not because INRMW

222 is different], we are not 07 that at the conclusion of s™2nx 27 rebuttal -
— g NNPIDY D12 NNV P2 PIIN YWIY NIN 9779 N9T

For s™27n1X 27 reply was merely that there is a difference between 25732 nR™W

and 27X NNPW -
592 DINN XX 903 09991 B3 NPVN OX 799 NOYIMN NP RY 79913 91ONT YWY 19)

And this (that a y¥n (and a von) is 2721 0°732 XHLVY) is also indicated in our
X3, for M277% 27 himself did not query whether a 17150 *2°2 Yy71¥71 is 23733 NBu»
and 2°9> by touching them but rather he only queried regarding a person.

" According to mooin that a 17190 2 YE» is Xnvn all 2733, what is the meaning of s™127nX 27 retort XY X127
°IRW 11213, what difference is there between touching 0°732 (which he is not wearing) and touching a person.

' The n"27 ninan amends this to read, X9X 2IRW D122 IR™IY RRDT O3

'3 See footnote # 4.

16 A 7921 voon is P1AMA 09931 0732 Xnvn but not an 1AM DTX.

7 According to *"wA that we only know for certain that a 1190 "2 y1¥» is Xnun the 172 wI25Ww 0733, but not other
0°%21 0732, why did 270X 27 query how we know that he is 078 Xnvn, why did he not include in his query how do
we know that he is 2721 o7& ¥nvn (see ‘Thinking it over’). This proves mooin view that there is no question that he
is ©°921 0>132 Xnvn the only question was regarding D7X.
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SUMMARY
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C"w)

THINKING IT OVER

Can we differentiate (according to °"w9) that by 7%°21 vo°77 there is a difference
between the clothing which he is wearing (that the ©v°07 is 7"12°172 Xnvn) and 27732
which he is not wearing (which he is not 171212 Xvn); however by y11¥n where he
is 0731 Xnwn there is no difference (according to nww 21)'® between the clothes he

1s wearing and the clothes he is not wearing (they are both Xnv)

18 See footnote # 17.

1 See w"x1 owa n¥Pn Avw and 737 NIR O 70A.
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